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Note: All the answers should be done on the question paper itself.
Mental Maths : (1x10=10)
1) When a number is multiplied by 0, the answer is always
2) 0+12=

3) Distance between Delhi and Agra is measured in

4) 1kg = g.

5) Quarter past 3 is written as

6) There are minutes in an hour.
7) 7825+ 100= Q ; R
8) 4232x17 = X 4232.
9) 330x10 =
10) 56 6= Q ; R
Multiple choice questions : (1x6=6)
a) One year= days.
(@) 365( ) (b) 368 ( ) (c) 136 ( )
b) What is the time at 8 in the morning?
(@) 8am () (b) 8pm ( ) (c) 8noon ()
c) How many rounds does hour hand take in one day?
(@ 1( ) (b) 2( ) (© 3(C )
d) Multiplication is also called as repeated
(a) Addition () (b) Division () (c) Subtraction ( )
e) The answer of multiplication is called as
(@) sum( ) (b) product ( ) (c) quotient ()
fy 399 +3=
(@) 233( ) (b) 133( ) (c) 103( )
Draw the hands of the clock : (1x4=4)
(@) 7:45 b) 3:30 (c) 9o’clock (d) 8:15
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IV Write the time : (1x4=4)

a) 6 o0'clock b) 4:45

b) d)
\' Multiply:- (2x4=8)
a) 63 x27 b) 74 x 32
c) 185x 25 e) 95 x 25
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VI Divide : (2x4=8)
a) 7264 +3 b) 4235+7
c) 6490 =5 d) 2428 + 2
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VII  Convert the following :

a) 2 litre 708 mi

b) 9403 cm into m

c) 5kg85gintog

d) 6439 m into km

(Class 3, Maths, 21.02.15)

(2x4=8)
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VIII Word problems: (4x3=12)

a) 9864 toys are to be put in 8 cartons equally. How many toys are there in each carton?

b) There are 195 fruits in a box. How many fruits are there in 35 boxes?
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c) One packet contains 48 chocolates. How many chocolates are there in 36 such packets?

d) There are 5382 flowers with Richa. She wants to put them equally in 6 baskets. How many
flowers will be there in each basket?
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